| Blatt 1

\ 4 Aufgabe 1
[ > restart:
>pl =1 - x"98;
>p2 :=1 - x"99;
=1 - xn100;
pl’

> = factor(pl);
> 'p2' = factor(p2);
[ > 'p3' = factor(p3);
> 1 - xM1 = factor(1 - x"41);
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\ 4 Aufgabe 2

| > restart:

?i factor;

i factor(940);
47* 30/ 3* 2;

i factor (427!);
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V Aufgabe 3
| > restart:

X ->x"2 * (1 - Xx);
X -> abs(cos(x));

X -> -sqrt(x);
X
X

-> £(g(h(x)));
-> g(h(f(x)));
x -> h(f(g(x)));
> plot([ u, v, w], -3 .. 3);

plot([ u, v, w], -5.. 3, -10 .. 10);

> plot(x ->sin(x)*2, 0 .. 2*Pi, -10..10);
| > plot(x -> sin(x)?2, 0 .. 2*Pi, -10..10, style = point);

\ 4 Aufgabe 4
[ > restart:
>a :=x ->x"3 - 8* x"2 + 20 * x - 16;
>bhb:=x ->x" - 8* x 3 +9 * x*"2 - 16 * x + 14;
[> h = x ->a(x) / b(x) * exp(-(x - 3)"2);
L(a)

> plot(h, 1 .. 7, -0.01..0.2, nunpoints = 10000);
()




|> factor(b(x));

L)
[> eval f(h(1 + 10~(-9)), 30):



